Advanced Precalculus 





Name ___________________________

Review over Chapter 3





Date ______________ Period ________
I.  Simplify:
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II
Solve for x using the one-to-one property:
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III.
Solve.
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IV.
Set up the following and solve.

28)
In twelve days, 1000 grams of an element decays to 200 grams.  What is the half-life of this element?  
Express your answer to 3 decimal places.

29)  
A person invests $10,000 in some real estate.  The investment grows at the rate of 12% per year, and 
is compounded every 3 months.  When will the investment be worth $15,000?  Round to 3 decimal 
places.

30)  
Suppose an $18,000 car depreciates 30% each year.  What will its value be in 3 years, to the nearest 
cent?
31)  
The number of disk drives D a trainee can assemble per day after t days of training can be modeled by 
the equation 
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.  Determine the number of days of training a person  would need to be 
able to assemble 18 disk drives per day.  Round to 3 decimal places.

32)
In a typing class, the average number N of words per minute typed after t weeks of lessons was found to be 
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.  Find the time necessary to type each of the following.  Round to 2 decimals.


a) 
50 words per minute


b) 
75 words per minute
33)
A deposit of $10,000 is made in a savings account for which the interest is compounded continuously.  The balance will double in 5 years.


a)
What is the annual interest rate for this account?


b)
Find the balance after 1 year.
Sketch the graph.
34)

[image: image30.wmf]1

()243

x

fx

--

=×-





35)

[image: image31.wmf]3

()log(2)1

fxx

=-++


_1076003170.unknown

_1171015582.unknown

_1300797522.unknown

_1300798199.unknown

_1300798414.unknown

_1331640737.unknown

_1331640738.unknown

_1300799094.unknown

_1300798313.unknown

_1300797659.unknown

_1171015637.unknown

_1269057081.unknown

_1269156730.unknown

_1172594459.unknown

_1171015614.unknown

_1076003768.unknown

_1112255228.unknown

_1112255489.unknown

_1112255609.unknown

_1112255285.unknown

_1076003960.unknown

_1076003492.unknown

_1076003548.unknown

_1076003351.unknown

_1076002797.unknown

_1076003087.unknown

_1076003102.unknown

_1076002862.unknown

_1076002620.unknown

_1076002688.unknown

_1076002559.unknown

